Pamétné déleni cisel vétsich nez 10 000

Délime deseti: 120:10=12 3600: 10=360
Délime stem: 300:100=3 5700:100 =57

1. Vypocite;j:

4200: 10= 12 000 : 100 =
800: 100 = 7000: 10=
6400: 10= 56 000 : 100 =
3600:100=
100: 100 =
18 000:100 =
Délime tisicem: 25 000 : 1 000 = 25

700 000 : 1 000 =700
720000:1000 =720
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2. Pocitej:

24 000:1 000 = 45 000 : = 45
32000:1000= 50 000 : = 500
120 000 : 1 000 = 630 000 : =630
900 000:1 000 =
72 000:1 000 =
48 000 : 1 000 =
3.Pozoruj:
8000: 10= 25000: 10=
8000: 100= 25000: 100=
8 000:1000= 25 000:1 000 =
943000: 10=
943000: 100-=
943 000 :1 000 =
'O0L

, =
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